CHART WORK

Maritime Examination Question and Answers



Q1.        Which nautical charts are intended for coastwise navigation outside of outlying reefs and shoals? ….

(a) Approach charts

(b) General charts

(c) Sailing charts

(d) Coast charts

Q2.        A chart with a natural scale of 1: 160,000 is classified as a ________ .

(a) Sailing chart

(b) General chart

(c) Coast cashrt

(d) Harbour chart

Q3.        A chart with a scale of 1: 80,000 would fall into the category of a _________-- .

(a) Sailing chart

(b) General chart

(c) Coast chart

(d) Harbour chart

Q4.        A chart with a scale of 1: 45,000 is a ______ .

(a) harbour chart

(b) Coast chart

(c) General chart

(d) Sailing chart

Q5.        The scale on a chart is given as 1: 5,000,000. this means that ________ .

(a) 1 inch scale is equal to 5000 inches on the Earth’s surface

(b) 1 nautical mile on the chart is equal to 5000 inches on the Earth’s surface

(c) 1 inche equal to 5,000,000 inches on the Earth’s surface

(d) 1 nautical mile on the chart is equal to 5,000,000 inches on the earth’s surface

Q6.        A marcator chart is a

(a) Cylindrical projection

(b) Simple conic projection

(c) Polyconic projection

(d) Rectangular projection

Q7.        On the isomagnetics chart, the line of zero variation is the
(a) Zero variation line

(b) Isogonic line

(c) Variation line

(d) Agonic line

Q8.        Distance along a rack line measured on a marcetor chat by using the ________ .

(a) Latitude scale near the middle of the track line

(b) Longitude scale near the middle of the track

(c) Latitude scale at the mid latitude of the chart

(d) Latitude or longitude scale at the middle of the scale

Q9.        Which statement is TRUE concerning a nercator projection?

(a) Degrees of longitude decrees in length as latitude increase

(b) The length of the meridian is increased to provide for equal expansion in all direction

(c) The mileage between the meridians is increased as the latitude increased

(d) All of the above

Q10.      The scale of the Mercator projection is 4 inches equal 1 LONG.  What is the expansion in inches 

              Between the 60th and 61th parallels?

(a) 8.11 inches

(b) 7.70 inches

(c) 7.48 inches

(d) 6.98 inches

Q11.      You must construct a Mercator projection foe an area bounded by latitudes 40 – 47 N and longitude 

               176E to 176W on a paper 28 x 36 inches. Allow a neat line of one inch. What will be the separation 

               between meridians?

(a) 3.190 inches

(b) 30249 inches

(c) 3.529 inches

(d) 3.714 inches

Q12.      Which is a weekly publication advising mariners of important matters affecting navigational safety?

(a) Light list

(b) Notice to mariners

(c) Coast pilot

(d) Sailing direction

Q13.      Chart should be corrected by using information published in the ___________ .

(a) Light list

(b) American Practical navigator

(c) Notice to Mariners

(d) Coast Pilot

Q14.      In very high latitude, the most practical chart projection is the _____________ .
(a) Mercator chart

(b) Gnomonic chart

(c) Azimuthal

(d) Lambert conformal

Q15.      Which statement about a gnomonic chart is correct?

(a) A Rhumb line appears as a strait line

(b) Distance is measured at the mid latitude of the track line

(c) Meridians appears as curved lines converging toward the nearer pole

(d) Parallel, except the equator, appear as curved lines

Q16.      Which type of projection is formed if plan is tangent to the Earth, and points are projected 

              Geometrically from the center of the Earth?

(a) Lambert conformal

(b) Oblique gnomonic

(c) Mercator

(d) Transverse conic

Q17.      All strait lines represent great circle tracks on a chart base on a (n) ______________ .

(a) Mercator projection

(b) Polyconic projection

(c) Orthographic projection

(d) Gnomonic projection

Q18.      The only cylindrical chart projection widely used for navigation is the
(a) Lambert conformal

(b) Mercator

(c) Azimuthal

(d) Gnomonic

Q19.      Chart legents printed in capital latters show that the associated land mark is ____________ .

(a) Inconspicuous

(b) Conspicuous

(c) A Government facility or station

(d) A radio transmitter

Q20.      The compass rose on a nautical chart indicates both variation and ____________ .

(a) Deviation

(b) Annual rate of variation change

(c) Precession

(d) Compass error

Q21.      Chart legends which indicate a conspicuous landmark are printed in __________- .

(a) Under line letters

(b) Bold face print

(c) Italics

(d) Capital letters

Q22.      In which source could you find the number of a chart for a certain geographic area?

(a) Chart no 1
(b) Catalog of chart

(c) American Practical Navigator

(d) U.S coast guard Light List

Q23.      What is a characteristic of a rhumb line?

(a) It is the shortest distance between two points on the Earth

(b) It plots as a strait line on a lambert conformal chart

(c) It cuts each meridian at the same angle

(d) The course angle constantly changes to form the Loxodromic curve

Q24.      A chart position enclosed by semi-circle is a (n) ___________-

(a) Fix

(b) Estimated position

(c) Dead reckoning position

(d) Running fix

Q25.      Line on a chart which connect points of equal magnetic variation are called _________ .

(a) Magnetic latitude

(b) Magnetic declination

(c) Dip

(d) Isogonics lines

Q26.      The local notice to mariners is usually published _____________ . 

(a) Daily

(b) Weekly

(c) Monthly

(d) Semiannually

Q27.      You should plot your dead reckoning position ___________ .

(a) At every course change

(b) Hourly

(c) At every speed change

(d) All of the above are correct

Q28.      A position obtain by taking lines of position from one object at different times and advancing them to 

              A common time is a (n) ________________ .

(a) Dead reckoning position

(b) Estimated position

(c) Fix

(d) Running fix

Q29.      A single line of position combined with the dead reckoning position result in a (n) _________- .

(a) Assume position

(b) Estimated 

(c) Fix 

(d) Running fix

Q30.      Which position includes the effect of wind and current?

(a) Dead reckoning position

(b) Leeway position

(c) Estimated position

(d) Set position

Q31.      A position that is obtain by applying estimated current and wind to your vessel course and speed is a _ .

(a) Dead reckoning position 

(b) Estimated position

(c) Fix

(d) None of the above

Q32.      What describes an accurate position that is NOT based on any prior position?

(a) Dead reckoning position

(b) Estimated position 

(c) Fix

(d) Running fix

Q33.      A position obtained by applying only your vessel’s course and speed to a known position is a _ .

(a) Dead reckoning position

(b) Fix

(c) Probable position

(d) Running fix

Q34.      The path that a vessel is expected to follow, represented on a chart by a line drawn from the point of  

               Departure to the point of arrival is the _________ .

(a) DR plot

(b) Track line

(c) Heading

(d) Estimated time

Q35.      When possible, a Dr plot should always be started from where?

(a) Any position

(b) A known position

(c) An assumed position

(d) None of the above

Q36.      How many fixed objects are needed to plot a running fix?

(a) None

(b) One

(c) Two

(d) Three

Q37.      The shoreline on charts generally represnts the mean _____________ .

(a) High water line

(b) Low water line

(c) Low water spring line

(d) Tide level

Q38.      A position obtained by crossing line of position taken at different times and advanced to a common 

               Time is a __________ .

(a) Running fix

(b) Dead reckoning position

(c) Fix 

(d) Estimated position

Q39.      The chart symbol indicating that the bottom is coral is _________ .

(a) C

(b) CI

(c) Co

(d) C

 Q40.      Which chart symbol indicates the bottom is clay?

(a) Cly

(b) Cla

(c) CI

(d) C

Q41.      A Polyconic projection is based on a _____________- .

(a) Plane tangent at cone point

(b) Cylinder tangent at one parallel

(c) Cone tangent at one parable
(d) Series of cones tangent at selected parallel

Q42.      Which chart projection would be most suitable for marine surveying?

(a) Gnomonic

(b) Lambert conformal

(c) Mercator

(d) Polyconic

Q43.      Which statement about a simple conic chart projection is TRUE?

(a) It is an equal – area projection

(b) It is a conformal projection

(c) Meridians appears as a curve line

(d) The scale is correct along any meridian

Q44.      You would find the variation on a Polyconic projection chart ______________- .

(a) On the compass rose

(b) On the mileage scale

(c) Written on the chart title

(d) At each line of longitude

Q45.      A pilot chart does not contain information about _________ .

(a) Average wind condition

(b) Tidal current

(c) Magnetic variation

(d) Average limit of field ice

Q46.      If you were sailing in the North Pacific and wre interested in the ice and iceberg limits, you could 

              Find this information in the ______________ .

(a) Pilot chart

(b) Coast chart

(c) Notice to Mariners

(d) None of the above

Q47.      A gnomonic projection is based on a (n)  ______ .

(a) Plane tangent at one point

(b) Cylinder tangent at one point

(c) Cone tangent at one point

(d) Infinite series of cones tangent at selected parallel

Q48.      A line of position formed by sighting two charted objects in line is called a ____________ .

(a) Relative bearing

(b) Range line

(c) Track line

(d) Estimated position

Q49.      You are taking bearing on two known objects ashore. The BEST fix is obtained when the angle 

              Between the line of position is _____________- .

(a) 60 deg

(b) 90 deg

(c) 45 deg

(d) 30 deg

Q50.      Which error is NOT included in the term  ‘ current ‘ when used in relative to a fix?

(a) Poor steering

(b) Leeway

(c) Known compass error

(d) Ocean current

Q51.      You should plot your dead reckoning position ________-

(a) When you obtain an estimated position

(b) Only in piloting water

(c) At every speed change

(d) All of the above are correct

Q52.      You plot a fix usind three lines of position and find they interested ina triangle. You should plot the 

               Position of the vessel __________ .

(a) Out side f the triangle

(b) Any where in the triangle

(c) On the line of the position from the nearest object, between the other two lines of position

(d) In the geometric center of the triangle

Q53.      What area of the earth cannot be shown on a standard Mercator chart?

(a) Equator

(b) Area including both North and south latitude

(c) North and South pole

(d) A narrow band along the central meridian

Q54.      The initial great circle course angle between Lat 23 00’N Long 42 00’W and Lat 34 00’S ,

              Long 18 00’E is 063.8 deg. What is the true course?

(a) 063.8 T

(b) 116.2 T

(c) 243.8 T

(d) 296 T

Q55.      You are running parallel to the coast and plotting running fix using bearing of the same object.

               You are making more speed than assumed for the running fix. In relation to the position indicated by 

               The fix you will be _____________- . 

(a) Closer to the coast

(b) Farther from the coast

(c) On the track line ahead of the fix

(d) On the track line behind the fix

Q56.      A true bearing of a charted object, when plotted on a chart,,will establish a _________ . 

(a) Fix

(b) Line of position

(c) Relative bearing

(d) Range

Q57.      At 0000 you fix your position and change course to 090 T. At 0030 you again fix your position and it 

              Is 0.5 miles east of your DR. Which statement is true?

(a) The current is easterly

(b) The drift is 0.5 knot.

(c) You should alter course to the right to regain the track line.

(d) The current is perpendicular to your track line.

Q58.      A line of position is ___________- .

(a) A line connecting two charted objects.

(b) A line on some point of which the vessel may be presumed to be located.

(c) The position of your vessel

(d) Not used in a running fix.

Q59.      You are plotting a running fix. The LOP to be run forward is an arc from a radar rang, what

              Technique should be used ?

(a) The arc should be converted into a strait line using offsets and then run forward.

(b) An arc should never be run forward.

(c) The position of the object observed should be advanced swung using the radius of the old arc.

(d) The distance between LOP’s should added to the radar rang and a new arc swung.

Q60.      A position that is obtained by using two or more intersecting lines of position, taken at nearly the 

              Same time is a (n) ________________ .

(a) Estimated position
(b) Fix

(c) Running fix

(d) Dead reckoning position

Q61.      You are on course 030 T. the relative bearing of a lighthouse is 45deg. What is the true bearing?

(a) 015 deg

(b) 075 deg

(c) 255 deg

(d) 345 deg

Q62.      In plotting a running fix, how many fixed object are needed to take your lines of position from?

(a) Three

(b) Two

(c) One

(d) None

Q63.      On a Mercator chart 1 nautical mile is equal to ____________ .

(a) 1 minute of longitude

(b) 1 degrees of longitude

(c) 1 minute of latitude

(d) 1 degrees of latitude

Q64.      Information for updating nautical charts is primarily found in the __________-- . 

(a) Notice to mariners

(b) Coast Pilot

(c) Nautical chart catalogs

(d) Sailing Direction

Q65.      Which information is found of a nautical title?

(a) number of the chart

(b) Edition date

(c) Variation information

(d) Surveying information

Q66.      What is the length of a nautical mile?

(a) 1850 meter
(b) 6076 feet

(c) 5280 feet

(d) 2000 yards

Q67.      A dead reckoning (DR) plot ________ .

(a) Ignores the effect of surface current

(b) Is most useful when in sight of land

(c) Must be plotted using magnetic course

(d) May be started at an assumed position

Q68.      You are on course 344 T and take a relative bearing of a lighthouse of 270. What is the true bearing

              To the lighthouse?

(a) 016

(b) 074

(c) 090

(d) 254

Q69.      You must construct a Mercator plotting sheet on a piece of paper measuring 28” by 32”. The area

               Includes latitude 32 S to 39 S and longitude 005 E to 003 W. Allow a one-half inch neat line on all 

               Sides.What is the maximum distance between each degrees?

(a) 3.38 inches

(b) 3.62 inches

(c) 3.79 inches

(d) 3.95 inches

Q70.      A revised point of a chart is made ____________ .
(a) after every major hydrographic survey of the area covered by the chart

(b) When there are numerous correction to be made or the correction are extensive

(c) When a low-stock situation occurs and minor correction are made

(d) Every two years to update the magnetic variation information

Q71.      you must draw a plotting sheet covering latitude 49 N to 53 N and longitude 179 E to 178 W. If the 

              Distance between latitude 49 N to 53 N is 16 inches, What is the distance between the meridians of

              1 deg of longitude?

(a) 2.12 inches

(b) 2.33 inches

(c) 2.56 inches

(d) 2.81 inches

72. Given are the courses and speeds of 4 vessels. The navigator of which would be required to know the
Actual time of meridian transit in order to take an accurate observation at LAN?

(a) C 166 deg T. Sp 24 knots

(b) C 013 deg T. Sp 7  knots

(c) C 291 deg T. Sp 25 knots

(d) C 112 deg T. Sp 4 knots

Q73.    A chart has extensive corrections to be made to it. When these are made and the chart is again printed, 
            The chart issue is a ________________

(a) first edition

(b) new edition

(c) revised edition

(d) reprint

Q74.    You must construct a Mercator plotting sheet on a piece of paper measuring 30 deg by 36 deg. The 

            Area includes latitude 30 deg 45’ S to 37 deg 15’ S and longitude 004 deg 00’ E to 005 deg 00’ W.

            Allow a one-inch neat line on all sides. What is the maximum distance between each?

(a) 3.09 inches

(b) 3.22 inches

(c) 3.41 inches

(d) 3.58 inches

Q75.    You are in the northern hemisphere and a tropical wave is located 200 miles due west of your position.
            Where will the wave be located 24 hours later?

(a) in the same place

(b) closer and to the west

(c) closer and to the east

(d) farther away to the west

Q76.    You must construct a Mercator plotting sheet on a piece of paper measuring 32” by 36”. The area 

            includes latitude 31 deg S to 37 deg S and longitude 005 deg W to 002 deg E. Allow a three-quarter

            inch neat line on all sides. What is the maximum distance between each?

(a) 4.00 inches

(b) 4.11 inches

(c) 4.25 inches

(d) 4.36 inches

Q77.    What information is found in the chart title?

(a) Date if the first edition

(b) Date of the edition and, if applicable, the revision

(c) Information on the sounding datum

(d) Information on which IALA buoyage system applies

Q78.    You must draw a plotting sheet covering latitudes 45 deg N to 49 deg N and longitudes 179 deg E to

            178 deg W. If the distance between each degree of longitude is 5 ¾ inches, what is the distance 

            between latitude 45 deg N and latitude 49 deg N?

(a) 33.1 inches

(b) 33.3 inches

(c) 33.6 inches

(d) 33.9 inches

Q79.    What is the equivalent of 0 min. 16 sec. in arc units?

(a) 0 deg 32’

(b) 0 deg 16’

(c) 0 deg 04’

(d) 0 deg 01’

Q80.    What is the equivalent of 5 deg 54’ in time units?

(a) 20 min 16 sec

(b) 23 min 36 sec

(c) 25 min 54 sec

(d) 30 min 27 sec

Q81.    You are plotting a running fix in an area where is a determinable current. How should this current be

            Treated in determining the position?

(a) The drift should be added to the ship’s speed

(b) The current should be ignored

(c) The course and speed made good should be determined and used to advance the LOP

(d) The set should be applied to the second bearing

Q82.    You are taking a bearing of 176 deg of a light house. Which bearing of another object would give the

            Best fix?

(a) 079 deg

(b) 151 deg

(c) 176 deg

(d) 292 deg

Q83.    A harbour chart could have a scale of _____________

(a) not more than 1:25,000

(b) 1:35,000

(c) 1:150,000

(d) not less than 1:500,000

Q84.    The depth of the water is indicated on a chart as 32 meters. This is equal to ______________

(a) 11.50 fathoms

(b) 12.62 fathoms

(c) 17.50 fathoms

(d) 104.99 fathoms

Q85.    A position obtained by crossing lines of position taken at different times and advanced to a common 

            Time is a(n) ______________

(a) fix

(b) dead-reckoning position

(c) running fix

(d) estimated position

Q86.    A position that is obtained by applying estimated current and wind to your vessel’s course and speed

            Is  a(n) ______________

(a) estimated position

(b) dead reckoning position

(c) fix

(d) none of the above

Q87.    Which symbol represents 1a 10-fathom curve?

(a) _____ ______ ______

(b) … _____ … _____

(c) _____ . _____ . ______ . ______

(d) ………

Q88.    Which symbol represents a 2-fathom curve?

(a) --  --  --

(b) .. _____ .. _____ .. ______

(c) _____ . ______ . ______

(d) .. .. .. .. .. .. 

Q89.    You are taking a bearing of 086 deg of a light house. Which bearing of another object would give the

            Best fix?

(a) 291 deg

(b) 261 deg

(c) 242 deg

(d) 196 deg

Q90.    The survey information upon which a chart is based is found _________

(a) at the top center of the next line

(b) near the chart title

(c) at the lower left corner

(d) at any convenient location

Q91.    The direction in which a vessel is steered is the course. The path actually followed is the _______

(a) route

(b) track

(c) heading

(d) course over the ground

Q92.    Isogonic lines are lines on a chart indicating ______________

(a) points of equal variation

(b) points of zero variation

(c) the magnetic latitude

(d) magnetic dip

Q93.    A single line of position combined with a dead-reckoning position results in a(n) ____________

(a) running fix
(b) fix

(c) estimated position

(d) assumed position

Q94.    The initial great circle course angle between LAT 23 deg 00’ S, LONG 42 deg 00’ W and LAT 

           34 deg 00’ S, LONG 18 deg 00’ E is 063.8 deg. What is the true course?

(a) 063.8 deg T

(b) 116.2 deg T

(c) 243.8 deg T

(d) 296.2 deg T

Q95.    What area of the earth cannot be shown on a standard Mercator chart?

(a) Equator

(b) Areas including both north and south latitudes

(c) North and south poles

(d) A narrow band along the central meridian

Q96.    The compass rose on a nautical chart indicates both variation and ___________

(a) deviation

(b) annual rate of variation change

(c) precession

(d) compass error

Q97.    The standard magnetic compass heading differs from the true heading by__________

(a) deviation minus variation

(b) variation plus compass course

(c) combines variation and deviation

(d) difference between true and magnetic heading

Q98.    Compass error is equal to the ____________

(a) deviation minus variation

(b) variation plus compass error

(c) combines variation and deviation

(d) difference between true and magnetic heading

Q99.    When changing from a compass course to a true course you should apply __________

(a) variation

(b) deviation

(c) variation and deviation

(d) a correction for the deviation of current set

Q100.   Variation is the angular measurement between ___________

(a) compass north and magnetic north

(b) compass north and true north

(c) magnetic meridian and the geographic meridian

(d) your vessel’s heading and the magnetic meridian

Q101.   Deviation in a compass is called by the _____________
(a) vessel’s geographic position

(b) vessel’s heading

(c) earth’s magnetic field

(d) influence of the magnetic materials of the vessel

Q102.   A light that has a light period shorter than its dark period is described as __________

(a) flashing

(b) pulsating

(c) occulting

(d) alternating

Q103.   An occulting light is one in which ___________

(a) the period of darkness exceeds the period of light

(b) there is only a partial eclipse of the light

(c) the periods of light and darkness are equal

(d) the period of light exceeds the period of darkness

Q104.   What is NOT true concerning color sectors of lights?

(a) color sectors are expressed in degrees from the light toward the vessel

(b) color sectors may indicate dangerous waters

(c) color sectors may indicate the best water across a shoal

(d) color sectors may indicate a turning point in a channel

Q105.   On a chart, the characteristics of the light on a light house is shown as flashing white with a red
             Sector. The red sector ____________

(a) indicates the limits of the navigable channel

(b) indicates a danger area

(c) is used to identify the characteristics of the light

(d) serves no significant purpose

Q106.   Some lights used as aids to marine navigation have a red sector to indicate a danger area.

             How are the limits of a colored sector of light listed in the light list?

(a) Geographical positions outlining the area of the sector

(b) True bearings as observed from the light toward a vessel

(c) True bearing as observed from a vessel toward the light

(d) Bearings given in the light list are always magnetic

Q107.   A list of lights entry (L Fl) is a single flashing light which shows a long flash of not less that ______

(a) 1.0 second duration

(b) 1.5 second duration
(c) 2.0 second duration

(d) 3.0 second duration

Q108.   The light list indicates that a light has a nominal range of 14 miles and is 42 feet (12.7 m) high.

             If the visibility is 16 miles and your height of eye is 20 feet (6.1 m), at which approximate distance

             Will you sight the light?

(a) 20.1 miles

(b) 16.0 miles

(c) 12.8 miles

(d) 7.6 miles

Q109.   The time required for a lighted aid to complete a full cycle of light changes is listed in the light list 

             As the ______________

(a) set

(b) frequency

(c) period

(d) function

Q110.   The period of a lighted aid to navigation refers to the ____________

(a) date of construction or establishment

(b) length of time between flashes of the light

(c) time required for the longest flash of each cycle

(d) time required for the light to complete each cycle

Q112.   Which factor(s) determines(s) the charted visibility of a light house’s light in clear visibility?

(a) Height and intensity of the light

(b) Height of the light and the observer

(c) Height of the observer and the intensity of the light

(d) Height of the light only

Q113.   A light house can be identified by its ____________

(a) painted color

(b) light color and phase characteristics

(c) type of structure

(d) all of the above
Q114.   When trying to sight a light house you notice a glare from a town in the background. The range at 

             Which the light may be sighted due to this glare is ___________

(a) considerable reduced

(b) increased slightly due to extra lighting

(c) unchanged

(d) increase if the light is red or green due to contrast with the glare

Q115.   The height of a light is measured from which reference plane?
(a) Mean low water

(b) Mean high water

(c) Average water level

(d) Geographical sea level

Q116.   Luminous range is the ___________

(a) maximum distance at which a light may be seen in clear weather

(b) maximum distance at which a light may be seen under existing visibility conditions

(c) maximum distance at which a light may be seen considering the height of the light and the height of the observer

(d) average distance of visibility of the light

Q117.   The luminous range of a light takes into account the ___________

(a) glare from background lighting

(b) existing visibility conditions

(c) elevation of the light

(d) observer’s height of eye

Q118.   Geographic range is the maximum distance at which a light may be seen under ____________

(a) existing visibility conditions, limited only by the curvature of the earth

(b) perfect visibility conditions, limited only by the curvature of the earth

(c) existing visibility conditions, limited only by the intensity of the light

(d) perfect visibility conditions limited only by the interference from back ground lighting

Q119.   When a light is first seen on the horizon it will disappear again if the height of eye is immediately

             Lowered several feet. When the eye is raised to its former height the sight will again be visible.

             This process is called ______________

(a) checking alight

(b) raising a light

(c) obscuring a light

(d) bobbing a light

Q120.   The maximum distance at which a light may be seen under the existing visibility conditions is

             called ___________-

(a) nominal range

(b) luminous range

(c) charted range

(d) geographical range

Q121.   The nominal range of a light may be accurately defined as the maximum distance at which a light 

             May be seen ___________

(a) under existing visibility conditions
(b) under perfect visibility

(c) with ten miles visibility

(d) with fifteen miles visibility

Q122.   What is the approximate geographic visibility of an object with a  height above the water of 70 feet, 

             For an observer with a height of eye of 65 feet?

(a) 16.8 nm

(b) 19.0 nm

(c) 20.6 nm

(d) 22.4 nm

Q123.  The light list indicates that alight has a nominal range of 14 miles and is 42 feet high (12.6 meters).

            If the visibility is 6 miles and your height of eye is 20 feet (6.1 meters), at which approximate distance

            will you sight the light?

(a) 20.1 miles

(b) 10.0 miles

(c) 7.6 miles

(d) 6.0 miles

Q124.   A light house is 120 feet (36.6 meters) high and the light has a nominal range of 18 miles. Your

             Height of eye is 42 feet (12.8 meters). If the visibility is 11 miles, approximately how far off the light

             Will you be when the light becomes visible?

(a) 12.5 miles

(b) 16.0 miles

(c) 19.0 miles

(d) 23.5 miles

Q125.   The visible range marked on charts for lights is the ___________

(a) minimum distance at which the light may be seen infinite visibility

(b) minimum distance at which the light may be seen based on a 12 mile distance to visible horizon

(c) maximum distance the light may be seen restricted by the height of the light and the curvature of 

the earth
(d) maximum distance at which a light may be seen in clear weather with 10 miles visibility

